Power

‘o« Divider

Communication Services Pty. Ltd.  Trading as :

Z@@ @@A&AE’B

DESIGNERS AND MANUFACTURERS OF RADIO FREQUENCY ANTENNAS

Hall Street, Lindenow, Victoria, Australia.
Tel: (03) 51571203 Fax: (03) 5157 1641

Copyright - Communication Services Pty. Ltd. No part of

this Drawing is to be reproduced without Written Authority
2282-4-B.dwg LM 17-01-20
Approved: LM 17-01-20

100 - 120mm

Assembly Sketch

PDC-S-120 CLAMP

KIT

PARTS SUPPLIED:

Bolt, Hex Head, M8 x 25, Stainless Steel Gr. 304

Nut, 'Nyloc', M8, Stainless Steel Gr. 316

Washer, Flat, M8, Stainless Steel

Washer, Spring, 1/2", Galvanised Steel

Nut, Hex, M12, Galvanised Steel

U-Bolt, M12 x 160 x 120 Gap, Galvanised Steel

Washer, Flat,1/2", Galvanised Steel

Clamp Arm, Short, Stainless Steel

bl Bl AV R HACI RG] RAG] RAGI RS}

= IN|W[Rh|O1|O | |00 (|©

Clamp Arm, Long, Stainless Steel

ltem

Description Quantity.




